
Round each number to the nearest ten.
  24 = 311 = 107 =

Which of the following shapes has a right angle?

  a. b. c. d.

Which of the following groups of numbers is in order from least to greatest?
  a. 323, 411, 421, 506 b. 108, 106, 217, 304
  c. 98, 94, 36, 29  d. 200, 199, 198, 405

Which of the following is NOT equal to 45?
  a. 3 ×10 × 2                          b. 3 × 3 × 5
  c. 10 + 10 + 10 + 10 + 5        d. 50 – 5

12 ×  =  48

Complete the pattern. 
1

2
,

2

3
,

3

4
, _______.

Which shape has a greater area?___________

For Problems 8–9, use the chart to the right.
  

Which car weighs the most? ___________

How much more does the red car weigh than 
  the green car? ___________

  1.2   1.4  2.6
  × 0.6 × 0.7 × 0.8
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A

5 in.

8 in.

B

3 in.

12 in.

Color Weight in pounds

Blue 2,786

Red 3,196

Green 2,500

Weights of cars



Which of the following numbers is NOT equal to 36? 
  a. 4 × 9 b. 18 + 18 c. 40 – 6 d. 10 + 10 + 10 + 6

Which one of these shapes has four vertices (corners)?
  a. b. c. d.

Which of the following groups of numbers is in order from greatest to least?
a. 323, 411, 421, 506 b. 108, 106, 217, 304

  c. 98, 94, 36, 29  d. 200, 199, 198, 405

Complete the chart.

28 ÷  = 7

Complete the pattern: 
1

3
,

2

5
,

3

7
, ______.

Which shape has the greater perimeter?
  ___________

For Problems 8–9, use the bar graph to the right.
   

How many eggs did Lucky lay last season?
  ______________________

How many more eggs did Clucky lay 
  than Lucky?______________________
  

3.3 4.5 7.2
  + 2.4 + 5.6 + 10.3
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A

5 cm

8 cm

B

3 cm

12 cm

Start End

2.2 2.6

3.1

4.7

Add 0.4

Eggs Laid Last Season

Lucky

Clucky

Old Red

Lilly

Each       = 25 eggs


